i

e (]
—_—




vicuuqrc me ‘f01
s e LS

_.!

c l , '
-2) quz (ji); B |







05 N O

SriaEee ~ | d)Increasing in inter

o) Asymptotes ___ ——

resh your memory of translations we have s




TS Mélllﬂ' I i
o ol N 2 3 D
PYSER R -lﬂI!hHMw 1 b
a0 16 NEOw | L ’
Al INTUTF ﬂiv“ ST R
et L3t | omi v 2L | el e
' ;:"“"...ﬂ@..l"!“’)”ﬂ S
. l@:—?!‘ﬂﬂ....-."‘ﬂﬁ e
8 cl*il.hﬂ .’=I'lﬂdﬁ Wil
e LY L E T
7 “ﬁi‘“ﬂﬁ.llﬂl L LT S
Lol=hpeicreh | 4 | | | U B
mm--nnmminﬂa'
(NS ERES ARENE
BT LTI PI T TErE
:‘.,:‘T-‘ﬂ.’ﬂﬂ'."-';lﬂﬁ&wg 4
CL LN Hdal ]






















Y =

6 g% -116"+24=

y‘“ﬁt&k— €5 - llev + 2 += O
4 | (éﬁ)L’-”{‘*/'t
J;j =t 10gy(2) +e :
¢ ':4" Xi'—'x

Te ey
v=_ dlogy(2) +4 i REK

IUO:(1\+4

(@







population f the year 2010
Earth’s population will be 7 billions of persons
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2) Suppose that the fish population P(t) in a lake {s attacked by a disease,
therefore the fish population is given by: (time is measured in weeks)

p =8350e
a) Find the initial fish population in the lake (t=0)
b) Whatis the fish population after 8 weeks?
c) ls ber of fish increasing or decreasing? How is that related to the
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por D the fish population be 2,500 fish
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3) Before a parachute opens, 4 skydiver's velocity in metersisecond is given'!
[ 503t
ol -’

~ wp)=501-27"

) Find the velocily after 1 minut
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